KTM 450 RALLY REPLICA 2025 <2025><F9399Y8>

BATTERY
73014
®
2
t’\u.‘- R }D
®
ﬁ\.:ﬂ- @ ¢
— Y %Q'\\
w, ©
O
Pos Part Number Description Additional Text Quantity
1 A58011155000 Battery holding bracket 1.00
2 54603048100 clip nut M6 1.00
3 0025060126S Hex collar screw M6x12 ISA30 s 2.00
4 A58011153000 12V battery 1.00
5 A58011097000 Ground wire 1.00
6 0902060083 Oval head screw ISO 7380 M 6X8 2.00
7 0025060106 HH collar screw M6x10 TX30 3.00
8 58411098100 CONTACT WASHER M6 VSV-K6 1.00
9 A58011054130 Battery compartment bracket 1.00
10 76006014100 Rubber grommet 2.00
11 A58011154000 Battery compartment 1.00
12 A58011154010 Battery compt. retaining brack 1.00
14 A58011059050 Battery cable 1.00
15 A58011059000 Starter cable 1.00
16 76211058000 Starter relay 1.00
17 58011109130 Plug-in fuse, big 30A 2.00




